PmtBZa EEBw 10 kH= Delta 1 [T1 ]
BWOZ300 kH=z —0.57 4dp
Ref 20.5 4dBm Att 50 4B SWT 20 ms aad 000000000 kH=z

20 Cffepet 0.5 dB Marker| 1 [T1

A/L r\ ~3l61 dBm
| 10 A \ 2.401472000 GHz

VIV Y

Moy T

— S0

—— &0

Center 2.401808 GH= 200 kH=/ Span Z MH=



Plot B2b EBW 10 kH=z Delta 1 [T1 ]
WBW 300 kH=z -0.6l1l dB
Retf Z20.5 dBm Att 50 4B SWT 20 ms G88.000000000 kH=

20 Cffepet 0.5 dB Marker| 1 [T1

~4L 46 dBm
Bh - 2l,439811D00 GHz

B N

— S0

—— &0

Center 2.440155 GH= 200 kH=/ Span Z MH=



Plot B2c REW 10 kH=z Delta 1 [T1 ]

VBW 300 kHz ~1.04 4B
Ref 20.5 dBm Att 50 dB SWT 20 ms 704.000000000 kHz
20 Cffepet 0.5 dB Marker| 1 [T1
—4l75 dBm
10 /qﬂay mehﬂwhvf 2l.478165000 GHz
‘\»\/\
g |

— 10

NN M T

— S0

—— &0

Center 2.478L17 GH= 200 kH=/ Span Z MH=



	b2a: Plot B2a
	b2b: Plot B2b
	b2c: Plot B2c


